
BRP 

for Yr.

Last year 

home base
+

Growth 

{leftover * rate}
=

Home 

nation base
+

Territory 

included in base
+/-

Special base 

modifiers
=

New 

base

[Max. 

base]
+ 

Allies w/o 

stockpile
+

Conquered 
(not liberated) 

territory
+/-

Special 

modifiers
- 

Negative 

stockpile
= Allocation

'39 n/a n/a 65 +

44 off map

4 Egypt

2 Trans-Jordan

3 Palestine

5 South Africa

n/a =

118

or 

123

[200] n/a n/a + 15 Danzig
E n/a =

118,

123, 

or

139

'40 65 No growth 65 +

44 off map

4 Egypt

2 Trans-Jordan

3 Palestine

5 South Africa

- 10 Gibraltar lost
1

- 10 Suez lost
1

= [200] + + -10 trade detour
2 - =

'41 65 +

{   _      * .35} 

= +

44 off map

4 Egypt

2 Trans-Jordan

3 Palestine

5 South Africa

- 10 Gibraltar lost
1

- 10 Suez lost
1

+ 5 Anzac Total War
E

+ 10 Martial India
E

= [200] + + -10 trade detour
2 - =

'42 +

{   _      * .35} 

= +

44 off map

4 Egypt

2 Trans-Jordan

3 Palestine

5 South Africa

- 10 Gibraltar lost
1

- 10 Suez lost
1

+ 5 Anzac Total War
E

+10 Martial India
E

- 10 Indian Ntl. Army
E

= [200] + +
-10 trade detour

2

- X Arab Unrest
E

- =

'43 +

{   _      * .35} 

= +

44 off map

4 Egypt

2 Trans-Jordan

3 Palestine

5 South Africa

- 10 Gibraltar lost
1

- 10 Suez lost
1

+ 5 Anzac Total War
E

+10 Martial India
E

- 10 Indian Ntl. Army
E

= [200] + +

-10 trade detour
3

- X Arab Unrest
E

- 15 IRA
E

- =

'44 +

{   _      * .35} 

= +

44 off map

4 Egypt

2 Trans-Jordan

3 Palestine

5 South Africa

- 10 Gibraltar lost
1

- 10 Suez lost
1

+ 5 Anzac Total War
E

+10 Martial India
E

- 10 Indian Ntl. Army
E

= [200] + +

-10 trade detour
3

- X Arab Unrest
E

- 15 IRA
E

- =

'45 +

{   _      * .35} 

= +

44 off map

4 Egypt

2 Trans-Jordan

3 Palestine

5 South Africa

- 10 Gibraltar lost
1

- 10 Suez lost
1

+ 5 Anzac Total War
E

+10 Martial India
E

- 10 Indian Ntl. Army
E

= [200] + +

-10 trade detour
3

- X Arab Unrest
E

- 15 IRA
E

- =

1
 If both Gibraltar and Suez are lost, no raiding of Med. sea zones against Britain.

2
 Paid if trade detour declared in previous year [house rule: paid if detour done in previous year, even if ended prior to Spring].

E
  Event. Arab Unrest  event reflected by deducting territory included in base.

BRITAIN Europe BRP Calculation



BRP 

for Yr.

Last year 

home base
+

Growth 

{leftover * rate}
=

Home 

nation base
+

Territory 

included in base
+/-

Special base 

modifiers
=

New 

base

[Max. 

base]
+

Conquered (not 

liberated) territory
+/-

Special 

modifiers
- 

Negative 

stockpile
= Allocation

'39 n/a n/a 65 +

4 Fr. Morocco

6 Algeria

4 Tunisia

4 Syria

2 off map

n/a = 85 [150] n/a + 15 Danzig n/a

85

or

100

'40 65 No growth 65 +

4 Fr. Morocco

6 Algeria

4 Tunisia

4 Syria

2 off map

= [150] +

- 10 Paris lost

- { 3 * __ cities lost}

- =

'41 +

{        * .25} 

= +

4 Fr. Morocco

6 Algeria

4 Tunisia

4 Syria

2 off map

= [150] +

- 10 Paris lost

- { 3 * __ cities lost}

- =

'42 +

{        * .25} 

= +

4 Fr. Morocco

6 Algeria

4 Tunisia

4 Syria

2 or 5 off map
1

= [150] +

- 10 Paris lost

- { 3 * __ cities lost}

- =

'43 +

{        * .25} 

= +

4 Fr. Morocco

6 Algeria

4 Tunisia

4 Syria

2 or 5 off map
1

= [150] +

- 10 Paris lost

- { 3 * __ cities lost}

- =

'44 +

{        * .25} 

= +

4 Fr. Morocco

6 Algeria

4 Tunisia

4 Syria

2 or 5 off map
1

= [150] +

- 10 Paris lost

- { 3 * __ cities lost}

- =

'45 +

{        * .25} 

= +

4 Fr. Morocco

6 Algeria

4 Tunisia

4 Syria

2 or 5 off map
1

= [150] +

- 10 Paris lost

- { 3 * __ cities lost}

- =

1
 + 5 after Pearl Harbor is drawn.

FRANCE Europe BRP Calculation



BRP 

for Yr.

Last year 

home base
+

Growth 

{leftover * rate}
=

Home nation 

base
+

Territory 

included in base
+/-

Special base 

modifiers
=

New 

Base

[Max. 

Base]
+ Conquered Territory +/-

Special 

Modifiers
- 

Negative 

stockpile
= Allocation

'39 n/a n/a 70 +
2 Libia

3 off map
1 n/a = 75 [150] + 3 Albania n/a n/a = 78

'40 70 No growth 70 +
2 Libia

3 off map
1 = [150] +

3 Albania

- =

'41 70 +

{        * .25} 

= +
2 Libia

3 off map
1 = [150] +

3 Albania

- =

'42 +

{        * .25} 

= +
2 Libia

3 off map
1 = [150] +

3 Albania

- =

'43 +

{        * .25} 

= +
2 Libia

3 off map
1 = [150] +

3 Albania

- =

'44 +

{        * .25} 

= +
2 Libia

3 off map
1 = [150] +

3 Albania

- =

'45 +

{        * .25} 

= +
2 Libia

3 off map
1 = [150] +

3 Albania

- =

1
 Lost when Suez is controlled by an Italian enemy.

ITALY Europe BRP Calculation



BRP 

for Yr.

Last year 

home base
+

Growth 

{leftover * rate}
=

Home nation 

base
+

Territory 

included in base
+/-

Special base 

modifiers
=

New 

Base

[Max. 

Base]
+ 

Allies w/o 

stockpile
+ Conquered Territory +/-

Special 

Modifiers
- 

Negative 

stockpile
= Allocation

'39 n/a n/a 122 +

8 Austria

20 Bohemia

3 Danzig
1

n/a =

150

or

153

[300] + 5 Slovakia n/a + 15 Danzig
2 n/a =

155

or

173

'40 122 No growth 122 +

8 Austria

20 Bohemia

3 Danzig
1

= [300] +

5 Slovakia 

+

+ 10 M/R Pact
3

- 10 Iron Ore
4

- =

'41 122 +

{        * .50} 

= +

8 Austria

20 Bohemia

3 Danzig
1

+ 3 South Styria
E = [300] +

5 Slovakia 

+

+ 10 M/R Pact
3

- 10 Iron Ore
4

- =

'42 +

{        * .50} 

= +

8 Austria

20 Bohemia

3 Danzig
1

+ 3 South Styria
E = [300] +

5 Slovakia 

+

- 10 Iron Ore
4

- =

'43 +

{        * .50} 

= +

8 Austria

20 Bohemia

3 Danzig
1

+ 3 South Styria
E = [300] +

5 Slovakia 

+

- 10 Iron Ore
4

- =

'44 +

{        * .50} 

= +

8 Austria

20 Bohemia

3 Danzig
1

+ 3 South Styria
E = [300] +

5 Slovakia 

+

- 10 Iron Ore
4

- =

'45 +

{        * .50} 

= +

8 Austria

20 Bohemia

3 Danzig
1

+ 3 South Styria
E = [300] +

5 Slovakia 

+

- 10 Iron Ore
4

- =

1
  Included in base only if 'Why Die for Danzig' event drawn in fall of '39. Otherwise Danzig may be conquered.

2
  Included if 'Why Die for Danzig' drawn in fall '39.

3
  USSR pays Germany 10 BRPs the first spring after M/R in effect.

4
  Applied if Sweden is hostile to or at war with Germany, or when Norway or Narvik (hex 1301) is enemy-controlled and Sweden is not a German ally. 

   In each year when Germany loses these BRPs, no nation may raid German BRPs in the Baltic sea zone (6.6).

GERMANY Europe BRP Calculation



BRP 

for Yr.

Last year 

home base
+

Growth 

{leftover * rate}
=

Home 

nation base
+/-

Special base 

modifiers
=

New 

Base
+

Conquered (not 

liberated) Territory
+/- Special Modifiers - 

Negative 

stockpile
= Allocation

'39 n/a n/a 270 n/a 270 n/a n/a n/a 270

'40 270 n/a 270 n/a 270 n/a n/a n/a 270

'41 270 n/a 270 n/a 270 n/a n/a n/a 270

'42 +

{   _      * .60}
1 

= = + - =

'43
____

or 

200
2

+

{   _      * .60}
1 

=

- 90 Japan First
3

+ - =

'44
____

or 

200
2

+

{   _      * .60}
1

=

- 90 Japan First
3

+ - =

'45
____

or 

200
2

+

{   _      * .60}
1

=

- 90 Japan First
3

+ - =

1
  No growth until in the war

2
  America Joins event

3 
 Japan First event

US Europe BRP Calculation



BRP 

for Yr.

Last year 

home base
+

Growth 

{leftover * rate}
=

Home nation 

base
+

Territory 

included in base
+/-

Special base 

modifiers
=

New 

Base

[Max. 

Base]
+ Conquered Territory +/-

Special 

Modifiers
- 

Negative 

stockpile
= Allocation

'39 n/a n/a 110 + 8 Siberia n/a = 118 [250] n/a n/a n/a = 118

'40 110 No growth 110 + 8 Siberia = [250] +

- 10 M/R Pact
2

- 10 Moscow lost

- 10 Leningrad lost

- { 3 * __ cities lost}
- =

'41 +

{       _  * .30} 

= + 8 Siberia = [250] +

- 10 M/R Pact
2

- 10 Moscow lost

- 10 Leningrad lost

- { 3 * __ cities lost}
- =

'42 +

{       _  * .30} 

= + 8 Siberia
1 = [250] +

- 10 Moscow lost

- 10 Leningrad lost

- { 3 * __ cities lost} - =

'43 +

{       _  * .30} 

= + 8 Siberia
1 = [250] +

- 10 Moscow lost

- 10 Leningrad lost

- { 3 * __ cities lost} - =

'44 +

{       _  * .30} 

= + 8 Siberia
1

- 35 Russo-Japanese 

War
E = [250] +

- 10 Moscow lost

- 10 Leningrad lost

- { 3 * __ cities lost} - =

'45 +

{       _  * .30} 

= + 8 Siberia
1

- 35 Russo-Japanese 

War
E = [250] +

- 10 Moscow lost

- 10 Leningrad lost

- { 3 * __ cities lost} - =

1
 Lost after Pearl Harbor is drawn.

2
 Pay Germany 10 BRPs the spring after M/R goes into effect.

E
 Event

USSR Europe BRP Calculation



COUNTRY
(base maximum, growth)

1
1939 1940 1941 1942 1943 1944 1945

Belgium (23, 20%)

Bulgaria (12, 15%)

Czechoslovakia (41, 40%)

Finland (14, 35%)

Greece (14, 20%)

Hungary (26, 20%)

Iran (18, 20%)

Netherlands
2
 (33, 30%)

Poland (30, 25%)

Romania (30, 20%)

Spain (38, 25%)

Sweden (30, 35%)

Switzerland
3
 (11, 20%)

Turkey
4
 (30, 20%)

Vichy France (X
5
, 10%)

Yugoslavia (27, 10%)

1
 Growth for countries controlled by Germany is 10% (14.32). Neutral minors do not experience growth (14.33).

2
  Receives 10 (in addition to 12 of home nation) if its controlling major power controls the North Sea. Lost if: Pearl Harbor drawn,  Netherlands conquered, or North Sea control lost (14.82). TR only.

3 
 If Switzerland surrenders, BRP base of every other nation except the Soviet Union reduced by 10% in the following spring production segment (26.8).

4   
Turkey's BRPs reduced by 2 for each Turkish city that is enemy controlled (26.7). Controlling power receives 1 for each city.

5 
 Vichy France's maximum base = 1.5 * (10 + BRP of colonies & conquered at time Vichy formed). No BRPs from Indo-China until Japan, Britain, or US at war w/ Vichy (19.6).

MINOR BRP BASE & ALLOTMENT (14.0)
[base + growth + terr. incl. in base = new base +/- X = allotment]


